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QUESTION 1

There are two Community-filters Ip Community-filter 1 permit 100: 1 200:1 Ip community-filter 2 permit 100: 1 Ip
Community-filter 2 permit 200:1 What is correct about the above description is Community-filter? 

A. The route will match only if BGP 100:1 200:1 and the body attribute carried in the BGP 2 route contains the group
value and 

B. The route will match only if BGP 100:1 200:1 and the body attribute carried in the BGP 1 route contains the group
value and 

C. As long as the body attribute carried in the route contains BGP 100:1 200:1, BGP community- with group value or
both, the route will match Filter1 

D. As long as the body attribute carried in the route contains BGP 100:1 200:1, BGP community- with group value or
both, the route will match Filter2 

Correct Answer: BD 

 

QUESTION 2

Router HW1 runs BGP, and has IBGP peers and EBGP peers configured. Which of the following statements regarding
the IBGP peers and EBGP peers are true? 

A. The router sends BGP updates learned from each IBGP peer to the other IBGP and EBGP peers. 

B. The IBGP peers must be directly connected. Otherwise, multi-hop IBGP must be configured on the router. 

C. The EBGP peers can establish peer relationships through loopback interfaces. 

D. The router sends BGP updates learned from each EBGP peer to the other EBGP and IBGP peers. 

E. The EBGP peers must be directly connected. Otherwise, multi-hop EBGP must be configured on the router. 

Correct Answer: DE 

 

QUESTION 3

The OSPFv3 Option field is carried in all LSAs. 

A. TRUE 

B. FALSE 

Correct Answer: B 

 

QUESTION 4

Which of the following statements is false about the DSCP field? 
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A. When the DSCP value is EF, data is forwarded in expedited forwarding mode 

B. CS in DSCP classifies data based on eight priorities 

C. DSCP can represent the data priority as well as the packet drop probability 

D. The DSCP value can be 0. When the value is 0, the default packet forwarding mechanism is used 

Correct Answer: A 

 

QUESTION 5

Regarding the OSPF stub protocol area in the middle, the following is correct. 

A. The stub cannot exist in the ASBR area. 

B. The virtual path cannot traverse the chain stub area 

C. stub type7 LSA area is not allowed to be injected 

D. The backbone area cannot be configured as a stub area. 

Correct Answer: ABCD 
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